ENGINEERS
addaay

ABL

[ PROVISIONAL ANSWER KEY }

Name Of The Post Assistant Engineer (Civil) , class-II

37/2017-18
Advertisement No

Preliminary Test Held On 04-03-2018

Que. No. 001-300(G.S. & Concerned Subject)
Publish Date 14-03-2018

Last Date To Send 21-03-2018

Suggestion (S)

Note:-

(1) All Suggestionsare to be sent with reference to website publishedQuestion
paper with Provisional Answer Key Only.

(2) All Suggestions are to be sent in the given format only.

(3) Candidate must ensure the above compliance.

(1) GREAR cllul-yAsll %Y sl A2 U YR A R otysilell GUAlaL s,

(R) GHecRIA Wdlal uleudli 1A AR 3ell UsyRASIHL HWAA Ys sHLS Yol cdltll-YUoll
% ol 5cll AMIH citl-YAoll dotse UR YRtY YAd WAXBelcd BloR Sloll Usl sULS
Yool ol A AeelUl Y sRcl

(3) GREARMN G5l YUollo] WYS UlGol 539 oAUl cAltl-YAoll 3 53¢ 1Ll tlla
Aaud «igl.



1. Ustolal Qeuld s3l Uostol el sRaugl oliHell & A0 sell aui olotteteliul
ULcRl ?

(A) 6.4, 1¢53 (B) €. ™. 1SS (C) 8. 1600 (D) &. 4. 1evd

2. ellRdoll set cirellotl estalloll gMRA Grirytal uan suis U 8. olly sHis UR

o{lActl U4l 5 A% 2 B 2
(A) B cloum (B) HEaAyZal
() lolatR (D) HELRAN
3. o(1A galdd QuRl Ul el G BlwR & B 2
(A) uzyel (B) slaetl-2%dll () AR (D) M8l

4. ol ot€lalell Yrotl Wl udlAl atscll otell deil Aglotoll @A g 88 B2

(A) 6l{o1R (Bangar) (B) WeR (Khadar)
(C) & (Reh) (D) @ (Bhur)

5. WEsolel wal elollRUl o€l URrUR sl HAL B 2

(A) [Qxgryauat (B) ayaULOL
(C) &yl (D) selyauLol

6. 30 AUl ieHlot BUAHSHL R ad-AB o1 dtumtotil umtet fa Jzcu Bafl
AodlIs B2l dslelcd & B 2

(A) 7°2. & 8°3. (B) 10°A, & 11°A.
(C) 13°A. §14°, (D) 5°A, 56°3A.
7. SlolRell GauleotHl (Aall iR sl 57 A B 2
(A) Alst (B) ALl () ollost (D) 98l
8. 56 Aloell Blcdold clolloll s ¥l AlSla DﬁQLCl& Uelgloll HUALA 210812
Yl Y2l 8 2
(A) AYScl clot-caA el Yol B) A aollsw
€) @ aollsri (D) qeie®

ABL - M 2 [Contd.



9. oA gafdat A2 A sau A%l Wdlollote] Geuleot Aty A B 2

(A) HSRR (B) HraAUa
(C) 0 (3au (D) seles

10. elRcloll R Axuil s Ao w{lot Aot el s1201R cagllay wirtateandl

ues 8l B2
(A) RAUAQS WictRell GuAlal B) l AR
©) wul R (D) wusll gfa

11, elRHl Grlr-U@M QrcllAMl, AoRUd, ANUlel, HEAYI, GrirUTA-HL Sl
UslRell %olel WAL B 2

(A) Gl sRoitfla sielal %dlcl (B) Guat slRoitllal WRIG %Il
(C) Gw sRoitlla crEl %olel (D) Al soitlla ol

12, ogelldlaell A soll Qeudua Ayeldal Gddla] Hiot Sloll QR v 872
(A) AU decey slRetd (B) @LLlAALA Soti%)
(C) %982 Seao (D) Guz Ugl As uwl &l

13, weeHl As QAN wes” undetlx sl HIdlell Mssl cloltalatHl AWl el
vl 8. A sl ol Aot UGl 56 u2s uAA B2

(A) SGLIIR (B) URs
(C) Aclet (D) 22
14. €2 walR a¥ eeall HlEauMl felal sl e 2
(A) Vil (ELSLE) (B) yscidled
(C) Clsexl () (D) Wallall (RURSL6L)

15. 9ol Ut URNES yaur wU@ A6 Uot Leounl Slott yyuuel «lA udd & ?

(A) B.8. Yd (B) Aollcled 2UES
(C) aldtielri Buidl (D) 2MBlseltss GeAAH

ABL - M 3 P.T.O.



16. oJRctdl Ay cSleA vlild HslRLA A2 YA ARl reutuetl sall
aul 48 el 2 |
(A) 8.3 1e¥¢ (B) 8.4 1€U0 (C) 8. 1€Ul (D) 6. ™. 1eU3
17. sl HeRIAA Wlldell Ass W2 “NrlAaD siotcl” ¥ wWauitedl slotcl
UALAEL AvAL &cll ?
(A) MR cucdRle (B) H&lRLM M QR ARew
(C) HelR el s (D) HERI% YRl

18. Adlo% EAUE S ofRUoll SELSIR &cll ?
() gllysl (B) sascll
(C) erctollzun (D) sascll wal etz

19. MR HounRle%, A5 UBd wal woletelle e olAotl ULl Sol
At &cll ?

(A) Qeu (B) RULURL (C) Raseal (D) Aol

20. 92Actoll UM U4 getoiRle] 59 ol nelld B 2

(A) stell ofct (B) 3HA gjc (C) s o (D) vugll ofcd
21. U Gelel sl A%AUL Hellacul U B2

(A) AUIQUAUA YE (B) UMM

(C) ollaUAGS (D) MBRULS

22. «QSl [Qedtot wYBar” sl wad 82
(A) HRHYR (B) clAAMLS (C) otatdl (D) (@121

23. (1) olclRUBell Geteloll A3l Hateur ol alt B.
() Ul Gedel Hudcd U@ oloum W Uil B.

(3) U Gt Ecll uatoll 233U A R uatell vide] YRS ot B.

(A) [Qetet (1) el () WAL B (B) [Qtilet (2) AUA (3) WAL D
(©) [Qtllet (1) A (3) WAL O (D) 2R (Aeuedl Al &

ABL - M 4 [Contd.



24. ollolfol Slstell U 58 Aelloll Grind otyall B 2
(A) olieR el B) 1y Acl
(©) €@t ercell alds el (D) GuR U4l As uel o8l

25. u;ﬁsuseué UHELCUE AU A YRl 2UURN] AR 53- 2L Uzoll sl olofl
ecll 2
(A) 1% L weldl (B) 15 {l udlul
(C) 19 {l udlul (D) au ol el

26. JUASAUS UWSIR ol sildalclsall A WA YAA “cs2 A2ANe2” Al AN
8q?
(A) visgllell 251 (B) 52+l usld Rad sl
(C) x1{lot HEYA (D) cgsdl wu2sHell clteict

27. 4. Woel-%l-SHL Hofl 2ude Hlal v datas uamcq[aa g RellellolR 58 8.
2. stelloldll ol Alacul UGSl HAA B.
3. 6SWlell olRIRML URARSIHME ULShisdlell Guzllol YA B.
(A) (Qtutel - 1 Aol 2 ARAUL D (B) (Atllel - 1 Aol 3 AU B
(C) Rttt - 2 Aol 3 AR B (D) ([Atllot - 9,2 Al 3 AR B

28, uHEldLE s SUoll SR sall ciul el sl 2
(A) 8.4 1¢3¢ (B) 6.2 1LUS
(C) 8. LU (D) 8. 4. 1CUe

29. HelRW( AsRARARA il AR « 52052 v Eletcd BBARA ol sesio
A &l ?
(A) AU Aot (B) HeslrUel
(C) wids? (D) ELMI%) duASLS

30. HoRly AASA e cml Wl daell 2euust sl 531 &cll 2
(A) RAtAYR (B) acellyR (C) wegl (D) yuell

ABL - M 5 P.T.O.



31.

32.

33.

34.

35.

36.

37.

9jot datell Geal sall datoll A¥[llotl Udel GUILE UAA &l ?
(A) Aldalgst c9L (B) 2l 3L

(C) skel dal (D) Has cat

el 1e¥ el “qr0g Aweloll Ul Al Astl AU A3 Sloll RyER

solul aell sl ?

(A) HUdo RhaxaRle (B) deus welgll
(©) R sctat ulwn (D) sloicictrlal Hdcll

gl RA¥flotl AHANL HeHE ABotclB WMot 2(ER UR UL s3aA ¢
Al &l 2

(A) sl udcl (B) elluea udcl
(C) gdelrly (D) elluge ofld

R UsR Al AU sl sl s (A Alclell elololl scallsis ()
ool SlaRell oAUl sAL &l ?

(A) ASlellet 50t B) Aecl sMatet
(C) é22 sMalet (D) Guz Ugl As ul 8l

565 oo A ACl BledaAat Aletcd SIAUe{l HelHL Hlsateld &, oA slosil
Wl ecll 2

(A) Yug (B) GL8lR
(C) cuall (D) sESdl

el ol AL ol G (R Uil wa Radlou Adls20L dcuell
A%ellaf AR adllul [dewot wAe Aul () cololl AwRDNML A J2ell A &l 2

(A) € (B) ¢ (C) 10 (D) 9

ad 20996l crcl 2@l Yoot @A €2 93.0% UAc B. o 004U Q&
eUl $2cll 2stoll ARl UAd ] 2
(A) 7.0% (B) 7.2% (C) 8.0% (D) 8.2%

ABL - M 6 [Contd.



38. el Aldlscur Hlatetoll 3Bl llRclell 56 Unaral orell e 2Ulot UL

ecll?
(A) etaall (8) el
(C) walauzHl (D) Ml

30. WS dca 51§ ol A3t 58 Uaalal Qogetl e2lel UG &cll 2
(A wial (B) ©dl
(C) Al (D) ALl

40. (1) due ueAl Holl s (i (st 2ogsll (Local Area Development
Scheme) ofl 23uld dl. 23-12-1¢¢3 Ul 2dct &cll.

() slet vl Alwell WS €35 AUE AcAA YlAay 3 uid sAsell 251 UslAs
o Elet (Grant-in-aid) dI% slacialHl va B,

(A) [@Quuet (1) Wy B. (B) [@tiet (2) A B.

(C) Rt (1) Ao () WY 8. (D) (Atuet (1) WY Bal (R) W B.
41. 9Ra§ e srllatete] a§ Hus sll WA B2

(A) (2eel (B) YU

(C) sE sl (D) GlocllR
42. gletul Al SLASIEL Aadaoll v el 82

(A) AR (B) ulx ©) s (D) A

43. 8 g $69L AU Bod&l Sloll Ll dAlR saAML A B 2

(A) etrdla Rod Qos (B) (Ay caAlUlR ¥dL6et
(C) o{lfQ 2ut=lloL (D) (Qu QAes

44, el o suL Aol B UR 0.u% GUs? s scaR HR sl @)
wsalHl dd 8 2
(A) cl. 1-¥-2014 (B) L. 1-5-R01U

(C) cl. 1-5-20165 (D) dl. 1-¥-015

ABL - M 7 P.T.O.



45. (1) g5t M HER Rad dos wAl «tau 520 A Acl U cAcUBS Aot B
2l YsaA B dol “QUL €" 83 B, |

(R) Rad Aot B e8]l SlHAUA Aoslal Gl 25U WU B d €A "Aok ER” 53 B,

(3) YR Aodlott AIlawgetl cautus u@st2 el Rad Aosal Al 1eve
ol uRAanel Haeu 8. ~
(A) Qulet (1) () AR w1 [Quutet (3) vllg B.

B) [@dlet (1) VIE U () dal (3) ALl 8.
() [Quaet (1) Aal (3) WA d @Quitet (2) W1 B.
(D) [@Quiet (1) () el (3) WAL B.

46. A%selloll URAHAML A% €ls gl (Growth) Aal ol URHIAL 48 ¥ Aau @el
A vuH ard 56 qacnlan alyeiul artcclil WA sdt ?

(A) sl (B) otclill €) el (D) wBlaHl

47. U wclleAUA o1d3ell RruauRl 860l sMl{l eeMBlell LU UM
Aol YAl AU UR YUY &cll 2

(A) Slogul3l 1eU0 B) AR 1evo
€) AN 1eut (D) W 1evo

48, wRleroutdl iz el yaslal dicly (Training Rural Youth for Self Employment)
ol A o{lAell 58 Algotinti Al sl 2
(A) AslAct o Qs Alweil (B) oclleR AoUR Alofell

(C) 2l w2 UM AWoUR AFell (D) HRel Anlgl Wogell

49. (Recalloll elAAM [Eatoll elcall B caatllal Acd da g sdauul 2d 82
(A) Aale c2ut2uLL9L (B) [Reeal s2ulaltllal

(C) WsAlsyélel ;@Qa, (D) s scud >R A2

ABL - M 8 [Contd.



50. (oM Al aloUlAesSell asl MELAA sl AxAH WA B 2

(A) BURUAA YEA (B) Ruuctal (C) Byz (D) B

51. (5) ALEloll (W) A€l W A8l o [Aseu uiie s

(5) (W). Bl clo] oluReL
() Uyl AslAA 2 A AU 54, (1) U WE - ¥¢
(1) sRsa usd slofoll usta AU Y3l (R) UYWE - 3¢ &
usal.
(1) euRass Aol sde UR ol ygeau (3) UWE - ¥R

Aol UILEL elRal.
@ an

A (R) 3) (V)

B 3) R) (V)

©€) (V) (R) (3)

D) 3B) (V) (®)

52. A%, © Yl e avsll ezl Yelloll il@dla Hgd U sABaAl Qe 2uc
HiE 2 siUeLl o8l 52 Acll AlA Rotaus 523 A usizell Aol ettt
AlAbutetul oo esUL sl Ml scUl WA B2

(A) 8.4, 2010 (B) 8..2011 (C) 8.4 2012 (D) 8.4 00¢

53. “yu” Yl g AU A B2
(1) AUHW ol HURRLe] SLE3U clect B,
(1) UL clURRLel HAd dqllal claul U B.
() wut RsReAl ualdall AEN 52 B.
(V) Sl uQl slaAElell UScARHL § W e2eaMl HIdledel HA B,
A) ) ) (1v)
B) () A (m
(C) (I 1y (v
(D) () ) () (1v)

ABL - M 9 P.T.O.




54. GURcloll AlAtatul “Haeld §2%1” ol A sall Aol oluRellal Yyt

SCULH WA B2
(A) 1e9¥ (B) 194 (C) 1¢9S (D) 199

55. o{lA edldct 58 stlolcdlMl oeul 2% scll Y AUl Hydl %39 wA B 2

(A) A%e] Bt 82l Acll 5AR AR sl sl
(B) ottuglal (Aot deieni

(C) Ruewtell AHRAUL $2812

(D) GuRell ottlly sttt

56. 2ol WotRe ofl cllolciull (1A U4l 5] Quitet / [Quoll ALAUUL B 2
() dueul 9)goll stlaudlul etol deS 2d 8 ol Ut 2l 23 B.
(I) dAie] Heelclly] UAUE oissl 52 B.
(1) Azell et ellRclell AXAAA-Mloll dAMIN RUAAAUL YollclQllell 65 233,

(V) A uRA stael Quats ololdldl Aetts wucled 234,

(A) (1) el (IV) (B) (I el (IV)
(C) (1) el (V) (D) A (V)

57. (1) GliRcloll [2ias-HslAul Ulaisa GRUAH RlaAlcAsll Al2Atlo ¥ dld
A B 5120 dlel ULl £2 sl A A A A A 5128 g2 59 wsid.

(R) dxell UIR al Acllell AR A A U@ oisfl 53 8.
(A) Rtitet (1) AY UA (2) Vg D (B) [@tet (1) Vg Aal () WY D
(C) oid Rl Al B (D) oid Qutsll wilel &

58. daadell yed yil wa A ugel de [Quadet 4, ual WA ol
Yol yed 32cll 2832

(A) otcll yatdcoll yan Assell drlutell uin ay

(B) 3ls ay

() o add

(D) QulFd datatd A & 8ld dzell, uid ciui ctdloll yed

ABL - M 10 [Contd.



5o, UH[Bs uA Aat@s A usid adllet RS A cdllett Gesy ALl
YA QB WA AAYRA Ao (Al 12 vl FolaUe sRelml AU
U RDE- 1€ dl ¢ () oll A Mgl sttt A oel Acll AloteueS etclell
AQuotl sal Yuigell srauul A 8 2

(A) YU B) ollst
(C) Al (D) uiAHi

60. CllsUlctol AL A AtAel el dyl dy J2El Yol dlall ASU 2

(A) UiA (B) &
(C) w6 (D) AUR

61. 00¢Hl 58 vyl GRRAHL 2 dl AR 1¢ ad AN ewoll astaL 2
(A) ¥ (B) U
(C) ¥ (D) €

g2, U oll Wb lats ‘o ol 1% atsell wRA6R B U ‘o’ ofl 10% ilats ‘5ol
20% wllelsell elRAolR B. %l 5 ofl 2t 3RAL ¥000 A2l Al W, 6 UA 8’ ol $el
vlels $ecll 3 el ?

(A) 2¢000 (B) 2¥000
(C) 35000 (D) 2¢000

63. As calsal ¢ sellsl s Yauigdl Yol 52 8, Bl yan ustll Yasdl el
scts 3 Balle: ua ol vistll wld seis w Bellillezoll 350 Yauisdl 53 B Al
set 3ecll (Balalles(l yausdl sdl e 2

(A) 32 (5l @®) 15 Gl
(C) 2% (5l (D) 30 Bl
64. ¢O ol 1 3Matett 13 3Mau wa A Y@ o cauerell €2 32l UL ?
(A) 4% (B) 12 UR %
(C) 1¥% (D) 13.99%

ABL - M 11 P.T.O.



65. 15x¢ geoll Aasn tRlddl As W Eus] WRAS eul§ 3. 2% & dl Ul A
seq s eu§ deq awa? |

(A) Lou 3 () 100 3Mau
(C) 104 3Mau (D) 10s 3Mau

66. s Al “w wouR Yl 3u Hle: e[l dzs WA B. @l A sioll ey adlla
50 H{leR WA 8 ua g3l stoll sty adllal 3w Hle: wA 8. dlll A stell oy
dollal ¢ Hle? WA & ual ‘o wRUA USA B. Al Al = el 32 Hle?

£ WR 8 ol 58 [l &2

(A) u 2R yd ey ®) U Hle? uldlu ouy
() 34 Mle? Griz aly (D) 2y 22 @ cuy

67. ¥s 2ldlotl A WEU 2efsA 10 sells el § seUsHl 2idla ydl el a3 B wa
Aol WU aidladl 1u setsHl wiell 531 9 8. weda weu AU vleaHl

Al dl 2ifl YRl SecuwmuaneRA?

(A) US sCLSs (B) £ SCUS (C) AUlcl SCUS (D) ui scls

68. A 3UaA 2000 ol ¥O 2eic WIZE B A W 2aied ¢ 2uclell ARl
Budoll 250 Becl otdl 1A A 9] A B, el A5 Soictel Auw Bud dzell s 2
(A) 30 soo B) 30U voo

(C) 3Mau vuo (D) 3 ¢coo

69. g oudl 295 Hle2 cioll Walelal UAR sl M2 ¥ AdoSell AHA A B U
oflost 32¢ l(laa Aloll R aletal UAR sRell UR 32 Adesoll uuA A B A ousledl

dolles 3ecll o912

(A) us Hle (B) g5 Hle (C) s¥ Hle2 (D) so Hlex

ABL - M 12 [Contd.



70. 6,18,23,69,79,?
yaugiul s¢ Aval wad ?
(A) 267 (B) 254
(C) 237 (D) 247

71, oflA ealAe 2 i wRA [Qseu ure s

NQA, QSB, TUC, ?
(A) WXD (B) WWD
(C) WVD (D) UVD

72. %l (-) oll W (), (+) oll W (%), (#) ol A (), (x) oll w (+) 8l A {lAsll
@Qsed U8l iy uHls2 ealladl [@Qseu urie s2A.

(A) 40-8+12 +18x8 =50
(B) 40 +12-8x 18 +12 =64
(C) 40 - 18 x 18 -8+ 12 =66
(D) 40x8—12—8+ 18 =40

73. ol Aottiiel 58 ity Geg™e il (NobleMetals) sdcll2l & 2

(A) e (B) el
(C) w@ARean (D) Gure{l AR gl

74. Aol GUGHR 9 B2
(A) AseAR (B) slectd
(C) AW SIS AdLs (D) AL of udg Ule

75, ¥oaldl 2099HL elRdAML BN R Al (Asitet (B cttell Yyt @y g ol 2

(A) ud M2 [@Qsliet
(B) uaAlctrl el Hletcll

(€) Qe Qoadl atoll culsell M2 [@Astiol ual Ylelbidl
(D) sl ([Qstietoll 29)(Q 3cuecll

ABL - M 13 P.T.O.



76.

77.

78.

79.

80.

81.

(1) wellMl (Qgd uar seaell slsglaet vl WEASL Ultd Al B, %

AU2AQs uRadet B,

() ¥ AR cdlowni Al ay Bauslle g wud B.
(A) [@Qulet (1) A (2) WAL B

(B) [Atlel (1) e () vllel B

(C) [@Quutet (1) WY B Ual (R) W B

(D) [@Qutet (1) W B a () ALY B

(1) Yot oLe yeellell ek wR ael Hlel 8.

(?) ult Asoll 291 cllettal Usdl el Ha 8.

(3) w918 Weltell udl uz ydell ullu Rauni 2 8.
(A) (Quilet (1) Al () WAL & (B) [Atltet (2) el (3) WU B
(C) [@Quuet (1) Aa (3) AR B (D) 2@ [Qeuet wAl B

etReflaL cy Aelt gl Guallol Aad “dl-13¢ ssd@Qu o B 2

(A) (@Qutet (B) SR

(©) &ldslreR (D) Ausa

Aglelct Al-§s Gl sl EAlY A2 (NABI) Sl A B 2

(A) atell (B) Hu& (C) 3alolle (D) €tz
yalcRetetl AsRlell yeul dat valaela staeiulol AUUBSRS WUMA M2
BosalslR sl2l sall ol “Ratetet ot Aogotet” ofl reUUall sl UAA &l ?
(A) 8.4. R00¢ (B) 8.4 010

(C) 8.4 011 (D) 8.3, 04

uREloL Rren 32100 AalxNoz RAreH WA A sl Yslell AsARell

GELSWU B ? ‘
(A) Reu AseAR (B) NURABoL As2AR
©) AAell3aet W22 (D) YRE@AZ WseaA?

ABL - M 14 [Contd.



go. ety URcdot W2 YA cl ANctole] Bloel scltHl A BD. Aof YU
Aot ay 1eew Wl sl R Ay wdd &d?
(A) AR (B) €lsl (C) solot (D) aiclet

83. @Rcl ABIR 4lA UENQL Yusisell [AURA HIUESsall e} Gelollal AR

200e{l AQHL ad(lsct st B. 2 Al gl 20le{l BAellell maa Al otell 2

(A) @led (B) oi122(l
(€) lal (D) dlal

84, uclln well vell @Qslz weARRL Sl A2UHL MAA B 2
(A) allell (B) RA¥8Ulel
(C) HelRY (D) sRaugu

85. (1) GlRclHIAl WRawotlloll UM doissioll €uttadal w5 ol 3@
AR sk 2099 Ul 1Al 2wl B,

(2) CURAMIAeU UBEL clotssiul ELR g6t 2¥,¢00 BAlMlezetl 2l Rscelle
Aol B,

(A) [Qullel - (A B el () Wllg B

(B) [@tulot- (1) W ol () WY B

(C) olal ([Atuell vilel B

(D) olal (Atutell UL B

86. CllRcl U8R ottlHolloll vitataldl d6m Eatoll U2 gl U 32cll dslel
U GUR tallel wtueall M2 2Alell Aetctell 22att 53 B 2 |
(A) U (B) 19 (C) 21 (D) 1R

87. ¥l (Ben sélad s slRaHl sldaAet (e Udau@dl AdS sla Aottt
sclHl wle scll ? '
(A) A cdlel oLt (B) 2zt Rsl
(C) Myet Uscl{l (D) 2UE3W Wlat

ABL - M 15 P.T.O.



88.

89.

90.

1.

92.

93.

Al R UL AW et v R anmaeﬂ A A Fdeaul slaL Qe
ool &d ?

(A) (@il sledl (B) etst ulla
(C) 36t Solzsl (D) (oll ActEust

dolloll Aaell YA oll.2l. A=A AAS o 2045 {2 ARWAZ] dacuiee
3ol {120t ﬂél Sl HAE B ?

(A) SLYgeUs ud (B) SLAuU. eudlat
(€) Sl uRHd g (D) SL. ols EUES

Bed ukgaHl Y3l gl Wad WA s aed (Ao Ml 32l dles Ase
U 93 Ase WUl &cll ?

(A) 30 (B) 34

C) 39 (D) 2u

Uil iy cigetl Alallii-decl adell dy crliell calsarl Astal 53 ad B2
(A) uo aell ey elatsll (B) W ciriell ay casll

(©) uc¢ adell ay el (D) so ayell ay casll

o€ WIEls HEcloth Y& UR Ublloldi(lal UGS AU HIZ 2UCUML A
utllet ol s Uclle URNES utatel dil3 Sloll AYsdl aAc ® 2

(A) s.[Qas 2o (B) SLYRY L GLCal
(C) L.t Ax (D) SLaallu sauct

Ysll L. %, Yullad uYel A - 20992 AR sl A B. Aell 58
AUA WS AR B 2

(A) olizdeollel (B) eucl ¥s
©) dl2el (D) sotfl

ABL - M 16 [Contd.



94. BAA GALH L2t oA e2ldct Yol Ul 59 Yacls cluicll wdet B 2
816 g Ae ‘

(A) &G g dle A (B) A2 2Ucs
() tl uARsL l B (D) Bos s A AN 2et
95. A2104R 019 Ui sl A 2alletl GReMoll Aysct weAl Y2l (1 -1 ~ Aua
YA &cll ?
(A) @lRel el Rbuy? (B) GllRel ual Allulel
(C) ®Rcl Ul Awa (D) ellRcl WA WSAS

96. AR 099HL allRd RS2 (A galdat suslR Ul 56 SUollal “UsRcol”
oll £2%%1 VUUE &cll 7

(A) 830 AT slulRetel (B) ARA V@Qan SR @AR3s
(C) slet sl [AM2s (D) alixet &<l sAsdlscy @RS
97. GllRel UBR slRL A3 sclul wad “ul” Alyoll e AclBd B 2
(A) ABsU (B) ustiAugjal HI2
(C) eatioll M2 (D) ewiet (32 ote

8. &l ARl -2019 Ul ARAUE stefl2Aell Wl ay AvaAl sl AFAML Al

HAA B ? | \
(A) AN (B) 50 C) sules (D) BLRulS
99. %Rd UIR Gl A scUML A “32 @l yell SLALAU Ao’ sl @t
?
(A Qe (B) A%
©) §d (D) WRal AR stas W

100. ¥R 2099 Hi AAd “Qu AARsy AU U Ul widAE
AR sU AARAAA 52906t gLl sl 2ol eldl Al UR Yldoiel edteletHl
wdd &cl ?

(A) el B) Alot (C) AN (D) Gtz silau

ABL - M 17 P.T.O.



101. Maximum carbon content in high strength deform bars should not be more than

(A) 0.60% (B) 0.06% (C) 0.30% (D) 0.03%
102. The Bureau of Indian Standards (BIS) has classified the common burnt clay bricks on the
basis of
(A) compressive strength (B) size of the brick
(C) water absorption capacity (D) efflorescence on brick

103. Which of the following stone is recommended for road metal work ?
(A) sandstone (B) quartzite (C) slate (D) marble

104. The age of trees can be understood by
(A) measuring the diameter of pitch (B) the thickness of bark
(C) length of medullary rays (D) counting the number of rings

105. The fineness of cement can be found out by sieve analysis using IS sieve number
(A) 6 (B) 9 (C) 10 (D) 20

106. What percentage of bound water by weight of cement is required for chemical reaction with
Portland cement compounds ?

(A) 15% (B) 23% (C) 38% (D) 40%

107. The coarse sand has fineness modulus in the range of
(A) 2.2-2.4 (B) 2.4-2.6 (C) 2.6-2.9 (D) 2.9-3.2

108. The minimum compressive strength (MPa) of 53 grade Ordinary Portland Cement after 72
hours should not be less than

(A) 10 (B) 15.69 (C) 27 (D) 53

109. Based on the heat released upon hydration, arrange the following four compounds of the
cement (1. CSS, 2. C,S 3. CSA 4. C4AF) in the descending order.

(A) 1,2,3,4 (B) 3,1.,4,2 (C) 3,4,1,2 (D) 3,4,2,1

110. For complete hydration of cement, the w/c ratio needed is
(A) less than 0.25 (B) more than 0.25 but less than 0.35
(C) more than 0.35 but less than 0.45 (D) more than 0.45 but less than 0.60

111. The maximum bulking of sand is likely to occur at a moisture content of
(A) 5% (B) 8% (C) 11% (D) 14%

112. Organic matter in water for making concrete should not be more than
(A) 1,000 ppm (B) 3,000 ppm (C) 10,000 ppm (D) 15,000 ppm
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113. The lime which sets on absorbing CO, from atmosphere is
(A) leanlime (B) feebly hydraulic lime
(C) richlime (D) fatlime

114. Blast furnace slag has approximately
(A) 45% calcium oxide and about 35% silica
(B) 50% alumina and 20% calcium oxide
(C) 25% magnesia and 15% silica
(D) 25% calcium sulphate and 15% alumina

115. The approximate ratio between the strengths of cement concrete at 7 days and 28 days is
(A) 3/4 (B) 2/3 (C) 12 (D) 1/3

116. A splitting tensile test is performed on a cylinder of diameter ‘D’ and length ‘L’. If the
ultimate load is ‘P’, then the splitting tensile strength of concrete is given by

(A) P/nDL (B) 2P/rnDL (C) 4PL/nD® (D) 2PD/nL®

117. The split tensile strength of M, grade concrete when expressed as a percentage of its
compressive strength is

(A) 1010 15% (B) 1510 20% (C) 2010 25% (D) 25 to 30%

118. Shrinkage of concrete depends uponthe
1. relative humidity of the atmosphere
2. passage of time

3. applied stress
Which of these statements is/are correct?

(A) 1and?2 (B) 2and 3 (C) 1alone (D) 1,2and 3

119. Which of the following is not an intrusive igneous rock ?
(A) granite (B) gabbro (C) diorite (D) basalt

120. Which of the following is a significant constituent of sedimentary rock ?
(A) magnetite (B) hematite (C) calcite (D) halite

121. Normally the tensile strength of glass varies between
(A) 28 kg/cm? to 56 kg/cm? (B) 280 kg/cm? to 560 kg/cm?
(C) 2800 kg/cm? to 5600 kg/cm? (D) 28000 kg/cm? to 56000 kg/cm?

122. Most of the stones possess the specific gravity in the range of
(A) 1.0to1.5 (B) 1.5t02.0 (C) 241028 (D) 38.0t0 4.0
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123. When a brick is cut into two halves longitudinally, one part is called
(A) king closer (B) queen closer (C) half bat (D) bevelled bat

124. The lime which has the property of setting in water is known as
(A) fatlime (B) hydraulic lime (C) hydratedlime (D) quick lime

125. A member with a cross-section of A and length L is subjected to a force of P. If Young’s
Modulus is E, then linear strain will be

(A) PL/AE (B) PA/LE (C) P/AE (D) PE/AL

126. In a uniaxial tension test on a mild steel bar, the Lueders’ line will be
(A) inclined at 45° to the direction of tensile stress applied
(B) perpendicular to the direction of tensile stress applied
(C) along the direction of tensile stress
(D) perpendicular to the resultant compressive stress

127. Ifthe Poisson’s ratio of a material is 0.25, the ratio of Modulus of Rigidity to Young’s Modulus

will be
(A) 2 (B) 0.4 (C) 25 (D) 4
128. Bulk Modulus (K), Young’s Modulus (E) and Poisson’s Ratio (m) are related by
(A) K=E/3(1 —2/m) (B) E=K/3(1 +2/m)
(C) E=2K(1 + 1/m) (D) E=3K(1-2m)

129. Arod of length L and uniform cross-section area A is rigidly fixed at its top and is hanging.
At any section which is at a distance x from the lower end, the stress due to its self-weight
is proportional
(A) x2 (B) 1/x (C) x (D) 1/x2

130. A plate 100 mm wide, 10 mm thick is having a hole of diameter 10 mm symmetrical about
the axis of the plate. The plate is subjected to a force of 9 kN. The maximum stress on a
section passing through centre of the hole will be

(A) 10 N/mm? (B) >10 N/mm? (C) <9 N/mm? (D) 9 N/mm?

131. An isotropic material is the one which
(A) has same structure at all the point
(B) has Young’'s modulus equal to the modulus of rigidity
(C) has the elastic constants, identical in all the direction
(D) obeys Hooke’s law up to failure

132. Arectangular section 100 mm x 200 mm is subjected to moment of 20 KNm. The maximum
bending stress is

(A) 30 N/mm? (B) 5/6 N/mm?2 (C) 10000 N/mm2 (D) 300 N/mm?
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133. The assumption that the cross section plane before bending remain plane even after bending
means

(A) the strain in the fibres is proportional to their distances from the neutral axis

(B) the bending moment will be resisted by the central core of the section

(C) the stresses in the fibres are proportional to their distances from the neutral axis
(D) the neutral axis lies at mid height

134. Acantilever AB is subjected to a concentrated load at the free end. The slope and deflection
at the free end are WL2/2 El and WL3/3 El. If the same load is applied at mid-span point, the
deflection at the free end will be

(A) 5WL3/384 El (B) 5WLS/48 El (C) WL3/6 EI (D) WLS/16 EI
135. The expression El(d*y/dx?#) at any section for a beam is equal to

(A) load intensity at the section (B) S.F. atthe section

(C) B. M. at the section (D) the slope at that section

136. If a shaft is subjected to pure twisting moment, an element on the surface is subjected to
(A) normal tensile stress (B) normal compressive stress
(C) pure shear stress (D) bending stress

137. The maximum shear stress produced in a shaftis 5 N/mm?2. The shaft is of 40 mm diameter.
The value of twisting moment is

(A) 628 Nm (B) 62.8 Nm (C) 125.6 Nm (D) 1256 Nm
138. What is tenacity-?

(A) ultimate strength in tension (B) ultimate strength in compression

(C) ultimate shear stress (D) ultimate impact strength

139. When a shaft of diameter d is subjected to a bending moment M and torque T, the equivalent
B. M. is given by

A) M + M2 + T? B) M — /M2 + T2

2 2
(C) %Mh/Mz +T2 (D) %Mh/Mz +T2

140. The work done to strain a material within elastic limits is known as
(A) resistance (B) virtual work (C) resilience (D) work modulus

141. A pull of 20 t is suddenly applied to a rod of cross-sectional area 40 cm?2. The stress
produced in the rod is equal to

(A) 0.5 t/lcm? (B) 1.0 t/lcm? (C) 2.0 t/cm? (D) 4 t/cm?
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142. Letthe strains produced in length and diameter of the cylindrical rod be o. and 3 respectively.
Then the volumetric strain is given by

(A) a+28 (B) a+p (C) a-B (D) o-28

143. A rod of length L is hanging vertically and carries a load P at the bottom. If the weight per
unit length of the rod be w, then the tensile force in the rod at a distance y from the support
is given by
(A) P (B) P—wy (C) P+ wy (D) P+w(L-vy)

144. The moment of inertia of a rectangular section about the base is
(A) twice the moment of inertia about the centroidal axis
(B) three times the moment of inertia about the centroidal axis
(C) four times the moment of inertia about the centroidal axis
(D) six times the moment of inertia about the centroidal axis

145. Which of the following represents the shear force at a section of the beam ?

dy d3y d?y dy
ElI— EI— El—L ElI-2
(A) O (B) o (C) B (D) i

146. A rectangular beam carries a maximum bending moment of M. If its depth is doubled, its
moment carrying capacity will be

(A) M (B) 2M (C) 3M (D) 4 M

147. A simply supported beam of span L carrying a uniformly distributed load registers a deflection
of y cm at the centre. If the span of the beam is doubled, the deflection at the centre for the
same uniformly distributed load would be

(A) 2y (B) 4y (C) 8y (D) 16y

148. Two beams, one having a square cross-section and another having a circular cross-section,
are subjected to the same amount of bending moment. If the cross-sectional area as well
as the material of both the beams are same then

(A) maximum bending stress developed in both the beams is the same

(B) the circular beam experiences more bending stress than the square one
(C) the square beam experiences more bending stress than the circular one
(D) both the beams will experience the same deformation

149. A rectangular section has dimensions of 10 cm x 20 cm. The ratio of the moment of inertia
about x-axis passing through its centroid to the moment of inertia about y-axis passing
through its centroid is equal to

(A) 8 (B) 4 (C) 6 (D) 2
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150. Arrange the following sections in increasing torsional stiffness :
1. Open ring section
2. Close ring section
3. L-section
4. Circular disk section
(A) 1,2,3,4 (B) 3,1,2,4 (C) 3,2,1,4 (D) 4,3,1,2

151. Torsional failure surface of ductile material occurs at
(A) transverse plane (B) 60° to the transverse plane
(C) 45° to the transverse plane (D) any random plane

152. State true or false :

1. Any two orthogonal surfaces are sufficient to completely specify the principal stresses for
a biaxial state of stress.

2. Only one surface is required to specify the maximum shear stress completely.
(A) 1istrue but 2 is false (B) 1is false, but 2 is true
(C) both 1 and 2 are true (D) both 1 and 2 are false

153. Which of the following yield criteria are suitable for ductile and isotropic material ?

1. Maximum normal stress theory
2. Maximum shear stress theory
3. Maximum energy distortion /theory
4. Maximum compressive theory

(A) 1and 2

(B) 2and 3

(C) 1,2and 3

(D) 1,2,3and 4

154. Which one of the following is conservative failure theory for brittle material ?
(A) Maximum normal stress theory (B) Maximum shear theory
(C) Coulomb-Mohr theory (D) St. Venant theory

155. Statistically indeterminate beam can be solved by :
1. Displacement method
2. Energy Method
3. Matrix Method
4. Four moment equation Method
(A) 1and?2 (B) 2and 3 (C) 1,2and 3 (D) 1,2,3and 4
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156. Structures having more reactions than that required for necessary and sufficient conditions
are

1. Hyperstatic

2. Determinate

3. Indeterminate

4. Hypostatic

(A) Only 1 (B) 1and3 (C) Only 2 (D) 2and 4

157. Maximum deflection at mid-span of a simply supported beam with UDL is

wLs 5WL3 sWL* sWL*

Azl ®) ZeEi ©) 3aE ®) ZeE

158. Unit load method is based on
(A) internal strain energy (B) theorem of minimum potential energy
(C) theorem of minimum deflection (D) Castigliano’s theorem

159. Deflection of simply supported beam at mid-span under a concentrated load is

w3 wL? w3 w3
A — B) — C) — D) —
(A) 48El ®) 8EI (©) 3EI (®) 96El
160. Williot-Mohr diagram is used to find
(A) displacement in a structure (B) settlement of a structure

(C) strain energy in a structure (D) principal stresses in a structure

161. A circle is marked.on a'mild:steel plate and.then it is subjected to two normal stresses is a
mutually perpendicular direction along with simple shear. After the loading, the circle

(A) assumes the shape of a ellipse (B) assumes the shape of a cycloid
(C) remains as a circle (D) assumes the shape of a square

162. Flexibility method is also called as :
1. force method
2. compatibility method
3. consistent deformation method
(A) Only 1 (B) 1and2 (C) 1and3 (D) 1,2and 3

163. Matrix stiffness method
1. forms the basis for computerization
2. yields the displacements and forces in one go
3. can be used to analyse both determinate and indeterminate structure
(A) 1and 2 (B) 1and 3 (C) 2and 3 (D) 1,2and 3
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164. Depending on the transmission of loads to joints, bridges are classified as
(A) Deck type (B) Pratt type (C) Warren type (D) Howe type

165. The tensile strength of concrete to be used in the design of reinforced concrete member is

(A) 0.21, (B) 0.1f, (C) 0.7\ffx (D) zero

166. In the fourth amendment May 2013 of IS 456-2000, M60 grade has been shifted to
(A) standard concrete from high strength concrete
(B) high strength concrete from high strength standard concrete
(C) standard concrete from an ordinary concrete
(D) ordinary concrete from a standard concrete

167. The modulus of elasticity E = 5000@ where f, is the characteristic compressive strength
of concrete specified in 1S:456-2000 is based on
(A) tangent modulus (B) initial tangent modulus
(C) secant modulus (D) chord modulus

168. The minimum percentage of tension reinforcement in R.C.C. beams is

85 0.4b,
A £ 7 (B) % 6 (C) % 4 ©) 0.7,

169. The maximum diameter of the reinforcement bars in R.C.C. beam is limited to
(A) 28 mm
(B) 40 mm
(C) one-eighth of the least dimension of the beams
(D) one-tenth of the depth of beams

170. If Wis the load per unit area on a circular slab of radius R, then the maximum radial moment
at the centre of a simply supported slab is equal to

WR? 2WR?
A B
) 16 ®) 16
3WR? 5WR?
(C) 16 (D) 16

171. The lap length of a direct tension reinforcement bar in a R.C.C. beams should be more than
(A) 16 times the diameter of the bar
(B) 48 times the diameter of the bar
(C) thrice the development length or 24 times the diameter of the bar
(D) twice the development length or 30 times the diameter of the bar
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172.

173.

174.

175.

176.

177.

178.

179.

180.

The minimum vertical space of the main reinforcement in R.C.C. beam is

(A) the diameter of the larger bar or 5 mm more than the nominal maximum size of the coarse
aggregate

(B) the diameter of the larger bar or two-thirds the nominal maximum size of the coarse aggregate
(C) 5 mm more than the diameter of the bar

(D) 15mm
A column is regarded as long column if the ratio of its effective length to least lateral radius
of gyration is more than
(A) 150 (B) 100 (C) 60 (D) 40
The minimum percentage of longitudinal reinforcement in R.C.C. column is
(A) 6 (B) 0.8 (C) 1.2 (D) 4
If ‘W’ is the weight per unit volume, ‘p’ the safe bearing capacity, and ‘¢’ is the angle of
repose of the soil retained by the retaining wall, the minimum depth of foundation to be
calculated as
p(1-sine ¥ p(1+sing ¥ p(1-sine p(1+sine
(A) W(Hsincp) (8) W(‘I—Siﬂ(p) (C) W[Hsin(p) (D) W[1—sin(p)
The minimum percentage of mild steel reinforcement to be provided in any direction in a
retaining wall is
(A) 0.12 (B) 0.15 (C) 0.20 (D) 0.22
Normally counterforts in a retaining wall are spaced at an interval of
(A) >2m (B) 1/3to 1/2 of the height of the wall
(C) 2times the height of the wall (D) 45mto55m
If ‘p’ is the net upward pressure on a square footing of side ‘b’ for a square column of side
‘a’, the maximum bending moment is given by
pb? pb(b — a)? pb.a® p(b —a)?
A — B) ——— C D) ———
() g (B) (©) =5 (D) =
Two way shear in a R.C.C. footing is checked at a distance equal to of the
footing from the face of the column.
(A) one-fourth of the effective depth (B) one-half of the effective depth
(C) three-fourth of the effective depth (D) the effective depth
The amount of reinforcement provided in precast concrete piles is usually governed by
(A) hammer force (B) direct load on the pile
(C) frictional resistance (D) handling forces
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181. The allowable tension stress due to bending for M, concrete in R.C.C. water tanks is
(in N/mm2)
(A) 1.2 (B) 1.5 (C) 1.7 (D) 2.0

182. For sections up to a thickness of 100 mm, the minimum area of mild steel reinforcement to
be provided in walls, floors and roofs of water tank in two particular directions should be

(A) 0.2% of the concrete section (B) 0.3% of the concrete section
(C) 0.5% of the concrete section (D) 0.8% of the concrete section

183. Which of the following losses of prestress occurs only in pre-tensioning and not in
post-tensioning ?

(A) elastic shortening of concrete (B) shrinkage of concrete
(C) creep of concrete (D) loss due to friction

184. For pre-tensioned prestressed concrete, the grade of concrete shall be not less than
(A) M3 (B) Myo (C) Mg (D) Mg

185. The maximum compressive strain permitted in R.C.C. columns at failure load is
(A) 0.002 (B) 0.003 (C) 0.035 (D) 0.004

186. A soft storey is characterised by vertical discontinuity in
(A) strength (B) stiffness (C) infill wall (D) size of shear wall

187. A simply supported beam shall be deemed to be a deep beam when the ratio of the effective
span (L) to the.overall depth (D) is

(A) less than 2.0 (B) more than 2.0 (C) lessthan2.5 (D) morethan2.5

188. In working stress design, if the modular ratio is ‘m’, steel ratio is ‘r, the critical neutral axis
constant ‘K’ is given by

m m m+r m-—r

A) B) vy (€) = (D) —

189. Expansion joints are provided if the lengths of the concrete structure exceeds

(A) 35m (B) 45m (C) 15m (D) 25m
190. In case of staggered pitch, pitch may be of values specified for not staggered
pitch.
(A) increased by 20% (B) increased by 50%
(C) decreased by 20% (D) decreased by 50%

191. For commonly used HSFG bolts (IS1367 part3, grade 8.8) yield stress fyb is
(A) 280 N/mm? (B) 360 N/mm? (C) 640 N/mm?2 (D) 940 N/mm?2
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192.

193.

194,

195.

196.

197.

198.

199.

200.

The prying forces are additional

(A) shearing forces on the bolts because of long joint

(B) bending forces on the bolts because of long joint

(C) tensile forces due to the flexibility of connected parts leading to deformation
(D) forces due to friction between the connected parts

The minimum size of the fillet weld that can be used is
(A) 2mm (B) 3mm (C) 4mm (D) 5mm

For a tension member, the design shear capacity of bolts carrying shear through packing
plate in excess of 6 mm shall be decreased by a factor of (Note: ’[pk is the thickness of the
thicker packing plate)

(A) 1-0.125 1, (B) 1-0.0125 (C) 1-0.250t, (D) 1-0.0250 t,,

If the effective length of a prismatic compression member is 0.8 L, then the support conditions
should be (Note: L is the unsupported length)

(A) atone end both rotation and translation is restrained, whereas at the other end translation is
restrained, but the rotation is free

(B) at both ends both translation and rotation are restrained
(C) at both ends translations are restrained but rotations are free
(D) at one end translation is restrained while at the other end rotation is restrained

Lacing bar shall be inclined at an angle g which should be between
(A) 20°-50° (B) 30°-60° (C) 40°-70° (D) 50°-80°

The slenderness ratio of lacing bar.should.not exceed
(A) 135 (B) 145 (C) 155 (D) 165

The thickness of battens shall be

(A) 1/10th of effective length of batten

(B) 1/15 of effective length of batten

(C) 1/10th of the distance between the innermost connecting lines of rivets, bolt or welds
(D) 1/15! of the distance between the innermost connecting lines of rivets, bolt or welds

The design compressive stress of an axially loaded compression member in I1S-800-2007
is given by

(A) Rankine formula (B) Secant formula

(C) Merchant Rankine formula (D) Perry Robertson formula

An example of light moment connection is
(A) framed connection (B) unstiffened seat connection
(C) clip angle connection (D) split beam connection
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201. To transfer large shear force through connection, which of the following option is most

suitable ?
(A) clip angle connection (B) bracket connection
(C) stiffened seated connection (D) framed connection

202. AsperlS: 800 inthe case of a plate girder with vertical and horizontal stiffeners, the greater
and lesser unsupported clear dimension of a web panel in term of web thickness t,, should
not exceed respectively

(A) 180t,and 851, (B) 270t,and 180 t,,
(C) 270t,and 200t (D) 400t,and 250t

203. Vertical deflection of gantry girder for electrically operated cranes over 500 kN is
(A) span/400 (B) span/500 (C) span/750 (D) span/1000

204. Economical depth of gantry girder is about
(A) 1/8th span (B) 1/12th span (C) 1/16t" span (D) 1/20t"span

205. If t, p, r are the cost of truss, purlin and roof coverings respectively, then for economic
spacing of roof truss

(A) t=p+r (B) t=2p+r (C) t=p+3r (D) t=p+2r

206. If anindustrial building is cover by Gl sheet and if no snowfall is expected in that area, then
the minimum pitch should be

(A) 1/24t of span (B) 1/6t" of span (C) 1/12th of span (D) 1/4t" of span

207. Which one of the following is matched correctly ?
(A) Pratt truss: Large span (B) Warren truss : Small span
(C) Quadrangle : Medium pitch (D) North light truss : Ventilation

208. The collapse load for a propped cantilever of span I subjected to uniformly distributed load is
(A) 0.414 M/ (B) 0.586 M,/I (C) 767 My/1 (D) 11.656 M/

209. The upper yield point in the stress-strain curve in structural steel can be avoided by
(A) cold working (B) hot working (C) quenching (D) galvanising

210. Poisson’s ratio of structural steel in plastic range is
(A) 0.25 (B) 0.3 (C) 04 (D) 0.5

211. In project management, an important principle in drawing a network is
(A) no activity can start until all the previous activities in the same chain are completed
(B) parallel activities should begin and end at the same time
(C) between two events there should not be more than two activities
(D) the number of dummy activities in a network should not exceed four
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212.

213.

214.

215.

216.

217.

218.

219.

220.

The value of a particular entity at the end of the utility period without dismantling is called as the
(A) scrap value (B) book value (C) salvage value (D) sinking value

In PERT, the critical path represents the

(A) shortest path for the earliest completion of project

(B) the longest path of the network from the initial to the final event

(C) the ideal path by proceeding along which the project can be completed as per schedule
(D) the path which takes into account the completion of the parallel activities

The probability distribution taken to represent the completion time in PERT analysis is
(A) gamma distribution (B) normal distribution
(C) beta distribution (D) log-normal distribution

The optimistic, most likely and pessimistic time estimates of an activity are 5, 10, 21 days.
What is the expected time and standard deviation

(A) 12,3 (B) 11,4 (C) 11,2.67 (D) 10,16

Slack is given as the difference between

(A) latest allowable time and earliest expected time
(B) latest allowable time and pessimistic time estimate
(C) earliest expected time and latest allowable time
(D) final event time and initial event time

If the probability factor is zero, the chances of completing the project in scheduled time are
(A) 0% (B) 50% (C) 75% (D) 100%

Float may be defined as the difference between

(A) latest start time and the earliest start time

(B) latest finish time and the earliest finish time

(C) time available and the time required to completed the activity
(D) all of the above

Interfering float is the difference between
(A) total float and independent float (B) total float and free float
(C) free float and independent float (D) independent float and free float

Cost slope of the direct cost curve is given by

crash cost —normal cost crash cost —normal cost
A) ‘normal fime — crash time (B) crash time
crash cost —normal cost normal cost — crash cost
normal time crashtime
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222.

223.

224,

225.

226.

227.

228.

In the time-cost optimisation using CPM, the crashing of the activities along the critical path
is done starting with the activity having

(A) least cost slope (B) highest cost slope
(C) least time slope (D) highest time slope

The time by which the completion of an activity can be delayed without affecting the start of
succeeding activities is called

(A) total float (B) interfering float
(C) independent float (D) free float

For an earthwork, if B is formation width, s is the side slope, L the length of the section and
d be the height of the embankment, then quantity of earthwork can be given

(A) (Bd +sd)L (B) (B +s)dL (C) (B + sd) dL (D) (B +sd?) dL
Isotropic hardening is associated with

(A) dilatation of yield surface (B) translation of yield surface

(C) metals under cyclic loading (D) Bauschinger effect

For the simply supported beam with span L and flexural rigidity El, if total mass ‘M’ is
concentrated at the centre then the natural frequency of the beam will be

o 1 [48El o 1 [12E o 1 [384E1 1 [eEl
A IV B) 2 \me e VL [V

If L = span of the suspension bridge, h = dip, t = change in the temperature and o = coefficient
of thermal expansion of cable material, then the sag in suspension cable due to change in
temperature cantbe given as

2

A i><E><oc><'[ B 3><L x o t C E><£><oc2><'[ D E><E><oc><'[2
A 167h ® %n ©) 5y ®) 5y

Which of the following is not an example of thermoplastic ?
(A) polyethylene (B) nylon (C) PVC (D) Bakelite

The location of shear centre of the channel section shown below is
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230.

231.

232.

233.

234.

235.

236.

237.

Average annual rainfalls in cm at 4 existing rain gauges stations in a basin are 105,79,70
and 66. If average depth of rainfall over the basin is to be estimated within 10% error then
additional no. of gauges needed will be.

(A) 1 (B) 2 (C) 3 (D) 4

If the wind velocity at a height of 2 m above the ground is 15 km/hr, then velocity at a height
of 10 m above the ground will be

(A) 19 km/hr (B) 75 km/hr (C) 3 km/hr (D) 50 km/hr

The statement “ordinate of the direct run off hydrographs of a common base period are
directly proportional to the volumes of runoff represented by the respective hydrograph”
infers

(A) principle of linearity (B) principle of time invariance

(C) principle of uniformity (D) none of these

If the maximum rainfall depth of 300 mm in 24 hours has a return period of 100 years, then
probability of 24 hours rainfall equal to or greater than 300 mm occurring at least once in 10
years is given by

(A) (0.99)10 (B) 1-(0.99)10 (C) (0.9)100 (D) 1-(0.9)100

In order to prepare 2 hour unit hydrograph from a hour unit hydrograph which of the following
method will be applied ?

(A) Synthetic unit hydrograph (B) S- curved method

(C) Instantaneous unit hydrograph (D) Simple unit method

Trap efficiency of a storage reservoir is defined as

(A) Total annual sediment flow /reservoir capacity

(B) Total sediment deposited in a given period / Total sediment inflow in that period

(C) Total annual sediment deposited in the reservoir / Dead storage capacity of the reservoir
(D) None of these

‘Economical Height of a Dam’ is that height for which

(A) cost per unit of storage is minimum (B) benefit cost ratio is maximum

(C) net benefits are maximum (D) none of these

The duty of a crop is 432 hectares/cumec, when its base period is 100 days. Delta for the
crop will be

(A) 132 (B) 200 (C) 464 (D) 864

The force considered for the analysis of an elementary profile of a gravity dam under empty

reservoir condition is
(A) uplift pressure (B) water pressure  (C) self weight (D) earthquake pressure
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239.

240.

241,

242,

243.

244,

245.

Sprinkler irrigation system is suitable when

(A) the land gradient is steep and the soil is easily erodible
(B) the soil is having low permeability

(C) the water table is low

(D) the crops to be grown have deep roots

The amount of irrigation water required to meet the evapotranspiration needs of the crop
during its full growth is called

(A) Variable Irrigation requirement (B) Effective irrigation requirement
(C) Consumptive irrigation requirement (D) Netirrigation requirement

A tube well having a capacity of 4 m3 per hour operates for 20 hours each day during the
irrigation season. How much area can be commanded if the irrigation interval is 20 days
and depth of irrigation is 7 cm

(A) 1.71 x 104 m? (B) 1.14 x 104 m? (C) 22.9x 10*m2 (D) 2.29 x 104 m2

A channel designed by Lacey’s theory has a mean velocity of 1 m/sec. If silt factor is unity,
then hydraulic mean radius will be

(A) 1.5m (B) 2m (C) 25m (D) 1m

When the outflow from a storage reservoir is uncontrolled as in a freely operating spillway,
the peak of outflow hydrograph occurs at

(A) the point of intersection of the inflow and outflow hydrographs

(B) a point after the intersectionof the inflow and outflow hydrographs
(C) the tail of inflow hydrograph

(D) a point before the intersection of the inflow and outflow hydrographs

The vertical hydraulic conductivity of the top soil at certain stage is 0.2 cm/hr. A storm of
intensity 0.5 cm/h occurs over the soil for an indefinite period. Assuming the surface drainage
to be adequate, the infiliration rate after the storm has lasted for a very long time shall be

(A) <0.2cm/hr (B) 0.2 cm/hr
(C) between 0.2 and 0.5 cm/hr (D) 0.5 cm/hr

A catchment consists of 35 % area with runoff coefficient 0.45 with the remaining 65 % area
with runoff coefficient 0.55. The equivalent runoff coefficient will be

(A) 0.505 (B) 0.515 (C) 0.500 (D) 0.450

A linear reservoir is one in which

(A) Storage varies linearly with time

(B) Storage varies linearly with outflow rate
(C) Storage varies linearly with inflow rate
(D) Storage varies linearly with elevation
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252.

253.

254.

A canal was designed to supply the irrigation needs of 1200 hectares of land growing rice of
140 days base period having a Delta of 134 cms. If this canal water is used to irrigate wheat of
base period 120 days having a Delta of 52 cm, the area (in hectares) that can be irrigated is

(A) 2650 (B) 3608 (C) 543 (D) None of these

The consumptive use of water for a crop during a particular stage of growth is 2.0 mm/day.
The maximum depth of available water in the root zone is 60 mm. Irrigation is required when
the amount of available water is 50% of the maximum available water in the root zone.
Frequency of irrigation should be

(A) 10 days (B) 15 days (C) 20 days (D) 25 days

As per the Lacey’s method for design of alluvial channels, identify the TRUE statement
from the following :

(A) Wetted perimeter increases with an increase in design discharge.
(B)
(C) Wetted perimeter decreases with an increase in design discharge.
(D)

Hydraulic radius increases with an increase in slit factor.

Wetted perimeter increases with an increase in slit factor.

Submerged unit weight is based on principle of
(A) Darcy (B) Terzaghi (C) Archmedis (D) Reynolds

The specific gravity of soil sample is 2.7 and its void ratio is 0.945. When it is fully saturated,
the moisture content of the soil will be

(A) 2.8 % (B) 25 % (C) 35% (D) 95 %

Stoke’s law is applicable for spheres of diameter ranging between
(A) 0.002to 0.0002 mm (B) 0.2t00.0002 mm
(C) 0.021to0 0.0002 mm (D) 2t00.02 mm

The admixture of sand or silt to clay causes

(A) Decrease in liquid limit and increase in plasticity index
(B)

(C) Decrease in both liquid limit and plasticity index
(D)

Decrease in liquid limit and no change in plasticity index

Increase in both liquid limit and plasticity index

According to IS Classification system, the soils can be classified into
(A) 18 Groups (B) 15 Groups (C) 3 Groups (D) 7 Groups

A soil has the liquid limit of 60 % and plastic limit of 20 %. Then the classification of soil as
per IS soil classification system is

(A) CL (B) CI (C) CH (D) MH
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255. Flow between any two points in a soil depends only on the difference in
(A) Pressure head (B) Total head (C) Velocity head (D) Datum head
256. The coefficient of permeability of a soil is 4 x 10" cm/sec for a certain pore fluid. If the
viscosity of the pore fluid is reduced to half, then the coefficient of permeability will be
(A) 4 x 10 cm/sec (B) 8 x 10°® cm/sec
(C) 2 x 10°° cm/sec (D) 16 x 10° cm/sec
257. Due torise in temperature , the viscosity and unit weight at percolating fluid are reduced to
70 % and 90 % respectively. Other things being constant, the change in coefficient of
permeability will be
(A) 20.0 % (B) 28.6 % (C) 63.0% (D) 77.8 %
258. The permeability of a soil deposit in-situ can be best obtained by
(A) Falling head permeameter (B) Constant head permeameter
(C) Pumping test (D) Yield test
259. The hydraulic head that would produce a quick condition in a sand stratum of thickness of
2m,ifG=27ande=0.7, is
(A) 0.5 (B) 2 (C) 1 (D) 25
260. The value of hydraulic gradient corresponding to zero resultant body force is called the
(A) Critical hydraulic gradient (B) Effective hydraulic gradient
(C) Total hydraulic gradient (D) Zero hydraulic gradient
261. Piping occurs when
(A) Effective stress is zero (B) Flow is downwards
(C) Flow is upwards (D) Flow is horizontal
262. The quantity of seepage depends on which of the following statements ?
1. The coefficient of permeability
2. The differential head across the flow path
3. The length of flow path
(A) 1and2 (B) 1,2and 3 (C) 1and 3 (D) 2and 3
263. A clay layer of thickness 10 cm and initial void ratio 0.5 undergoes settlement so that the
final void ratio is 0.2. The settlement of the layer in cm is
(A) 1 (B) 1.5 (C) 2 (D) 25
264. The unit of coefficient of consolidation is
(A) cm/sec (B) cm?/sec (C) cm/sec? (D) No unit
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265. Secondary consolidation is
(A) Caused by hydrodynamic lag
(B) Caused by creep
(C) Large for the pressures below the pre consolidation pressure
(D) Very small for highly plastic clays and organic clays

266. Two identically clay samples of the same size designated as A and B are subjected to
consolidation under identical conditions. Drainage takes place through one face in sample A
and through both the faces in sample B. 50% consolidation of sample A occurs in 10 minutes.
The time required for 50 % consolidation to occur in sample B in minutes will be

(A) 40 (B) 10 (C) 5 (D) 2.5

267. The failure plane in direct shear test is
(A) Vertical (B) Horizontal (C) Inclined (D) None

268. If the cohesion of a pure clay found in an unconfined compressive strength test is 1 kg/cm?,
then its unconfined compressive strength in kg/cm? is

(A) 0.5 (B) 2 (C) 1 (D) 4

269. In an undrained triaxial compression test, the sample failed at a deviator stress of 200 kN/m?2
when the cell pressure was 100 kN/m2. The cohesion intercept in this case would be

(A) 200 kN/m? (B) 100 kN/m?2 (C) 300 kN/m?2 (D) 50 kN/m?2

270. In a compaction test if the compacting effort is increased, it will result in
(A) Increase in maximum dry density and the Optimum Moisture Content
(B) Increase in maximum dry density but Optimum Moisture Content remains same
(C) Increase in maximum dry density and decrease in Optimum Moisture Content
(D) No change in maximum dry density and Optimum Moisture Content

271. In aplate load test, the size of plate recommended for gravely and dense sandy soil is
(A) 30 cm square (B) 60 cm square (C) 75 cm square (D) 90 cm square

272. The cohesion and the density of a soil are 2 t/m?2 and 2 t/m3 respectively. For a factor of
safety of 2 and stability number 0.1, the safe height of slope is

(A) 2.5m (B) 10 m (C) 5m (D) 50 m

273. If the ratio of width of foundation to the width of plate is 5 times, the ratio of corresponding
settlements in a clayey soil is

(A) 1:1 (B) 1:5 (C) 15:1 (D) 5:1

274. According to Terzaghi’s theory, the ultimate bearing capacity at ground surface for a purely
cohesive soil and for a smooth base of a strip footing is (Note: C is the unit of cohesive soil).

(A) 2.57C (B) 5.14C (C) 5.7C (D) 6.2C
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275. Group efficiency of a friction pile in a clay is

(A) Exactly 100% (B) Greater than 100%
(C) Less than 100% (D) Almost 100%
276. Under reamed piles are usually
(A) Precast Piles (B) Driven Piles
(C) Bore Piles (D) Bore or Driven Piles

277. The range of N values for a very loose sand is
(A) Oto 4 (B) 4t0 10 (C) 10t0 30 (D) 30to 50

278. When the velocity distribution is uniform over the cross-section, the correction factor for
momentum is

(A) O (B) 1 (C) 4/3 (D) 2

279. The hydraulic jump always occurs from
(A) below critical depth to above critical depth
(B) above critical depth to below critical depth
(C) below critical depth to above normal depth
(D) above normal depth to below normal depth

280. The flow in channels is considered to be in transitional state if the Reynolds number is

(A) less than 500 (B) between 500 and 2000
(C) between 2000.and 4000 (D) greater than 4000
281. The height of hydraulic jump is equal to the
(A) initial depth (B) conjugate depth
(C) difference in the alternating depth (D) difference in the conjugate depth

282. The specific speed of a turbine is defined as the speed of a unit of such a size that it
(A) delivers unit discharge at the unit head
(B) delivers unit discharge at the unit power
(C) produces unit power for unit head
(D) none of these

283. Anirrigation canal has a steady discharge Q at a section where a cross regulation (gate) is
provided for control purposes. If the gate of the regulator, which is normally fully open, is
suddenly lowered down to a half open position then a rapidly varied unsteady flow results.
In such a case, it would take the form of a

(A) +ve surge moving u/s and a —ve surge moving d/s
(B) +ve surge moving d/s and a —ve surge moving u/s
(C) +ve surge moving u/s and a +ve surge moving d/s
(D) —ve surge moving u/s and a —ve surge moving d/s
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284. Streamlines and Equipotential lines are lines that
(A) Can be drawn graphically for viscous flow around any boundary
(B) Form meshes of perfect squares
(C) Are orthogonal wherever they meet
(D) Can be determined mathematically for all boundary conditions
285. The descending order of precision among the following types of survey is
1. Chain
2. Compass
3. Theodolite
4. Micro-optic theodolite
(A) 1,2,3,4 (B) 4,1,2,8 (C) 4,3,2,1 (D) 4,3,1,2
286. Pick the incorrect pair :
(A) Butt Rod : Measuring offsets
(B) Invar Tape : Baseline Measurement
(C) Plasters laths : Marking terminal points
(D) Prism square : Setting right angles
287. Systematic errors in surveying are
(A) Self Compensating (B) Always Positive
(C) Always Negative (D) Cumulative
288. Agonic lines pass through points of
(A) Zero Dip (B) Equal Declination
(C) Equal Dip (D) Zero Declination
289. The process of turning the telescope of a Theodolite in a horizontal plane is called
(A) Transiting (B) Plunging (C) Swinging (D) Reversing
290. Which one of the following is carried out by two theodolite method ?
(A) Circular curve ranging (B) Tachometry survey
(C) Geodetic survey (D) Astronomical survey
291. Which one of the following statement is incorrect ?
(A) The contour lines are closed curves
(B) In steep slopes, the spacing of contours is small
(C) Contour interval on a map can vary
(D) Contour lines cross a ridge at right angles
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292. |IRC standard loading for bridge designs are
(A) Class A, Class B, Class AB and Class 70-R
(B) Class A, Class B, Class AB and Class 90-R
(C) Class A, Class B, Class BB and Class 70-R
(D) Class A, Class B, Class AA and Class 70-R
293. Suspension bridges are
(A) movable bridges (B) suitable for long spans
(C) suitable for short spans (D) used for navigable channels
294. The stream at the ideal bridge site should be
(A) Well defined and as deep as possible
(B) Well defined and as wide as possible
(C) Well defined and as narrow as possible
(D) Deep and as wide as possible
295. Floats are used to measure
(A) Discharge of stream (B) Velocity of stream
(C) Flood discharge (D) Afflux
296. The sensitiveness of a bubble tube in a theodolite would decrease if
(A) the viscosity of the liquid is increased
(B) the radius of curvature of the internal surface of the tube is increased
(C) the diameter of the tube is increased
(D) the length of the vapour bubble is increased
297. Keeping the instrument height as 1.5 m, height of staff 4 m, the slope of the ground as 1 in
10, the sight distance on the down-slope must be less than
(A) 25m (B) 30m (C) 15m (D) 20m
298. California Bearing Ratio is a
(A) Measure of soil strength
(B) Method of soil identification
(C) Measure to indicate the relative strengths of paving materials
(D) Measure of shear strength under lateral confinement
299. Which of the following pavement can be used, for construction on black cotton soils?
(A) Flexible pavement (B) Semi-flexible pavement
(C) Rigid pavement (D) Semi-Rigid pavement
300. Lacustrine soils are soils
(A) transported by rivers and streams (B) transported by glaciers
(C) deposited in sea beds (D) deposited in lake beds
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